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(i) 5776 =

(b) In an auditorium there are seats of two colors-red
and blue. There are 42 rows of red colored seats
with each row having 38 seats. There are 97 rows
of blue colored seats with each row having 58
seats. How many seats are in total in the

auditorium?
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4. (a) Solve the following :
FFrafofaa =t 5
(i) 162911 + 987262 — 781262 =
(i1) 999 x 2791 =
(b) Explain the concept of the Baudhayana Sulbasutra
for approximating the value of pi. Determine the
approximate value of the circumference of a circle
whose length of the diameter is 298. Apply Vedic
mathematics techniques to execute the calculations.
TE & A H HedeT @ fow e gowmd o
FAAURIT <l SR ThifoTq | Teh gl ohl TRIET ST SFATA
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Instructions for Candidates

I.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answers may be written either in English or Hindji;
but the same medium should be used throughout the

paper.

3. Question No. 1 is compulsary.

4. Answer any two questions from question nos. 2 to 4.
5. All questions carry equal marks.

6. Use of calculators is not allowed.

7. Mention the Vedic Mathematics Sutra and Subsutra

used to solve the question.
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Al & forg Few

W A -1 % e § ow iy I Fife s w s
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Attempt any four of the following :

fFrfaflag & § @ =R 95 HIWg
) e - 4 JBOEY =l dd]
(i) — = 93 = 202833

Gy (1oeEer—-

Gv) 28197 = 1111 =

(v) 99999 x 3472 =
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2. (a) Anjali ate 2/7th part of a cake. Hemant ate 4/5™
of the remaining. After Anjali and Hemant ate,
Ruchi ate 2 of the remaining. What part of the
cake is left?

FIfer = hep W 2/7 VN WHET B9 o AW T 4/5
W @ foEm s 3R BE ® WW @ 9, R A
s U 1 amen fewn @ form e @ feeem |t sen
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(b) Complete the following table with the Baudhayana
numbers of the respective Angles :

Angle |Base | Perpendicular | Hypotenuse
A 5 12 13
2A 2 2 169
A2 17 ? 2
Gafere whiol o st Gt & e R e
= a0 =i
T | IR | AT E)
Al B0 73
A | ¢ ? 169
A2 | ? ? ?

3. (a) Solve the following :
fFr=fafaa = 5o &<

() 896 = 905 » 996G =
P.T .01,



